% 12 4

P = | R e W]/ P F o4 E

1/25 1 0800 + 0 # 5 5 K1-1000M H1(T)

(=) 2 0810 H2(T)
3 0820 7+ # 5 7 K1-1000M H1(6)
4 0830 H2(5)
5 0840 7+ # %+ C1-1000M HI(6)
6 0850 H2(6)
7 0900 = B 9 =+ KI-1000M HI(T)
8 0910 H2(T)
9 0920 ~ 9+ Cl-1000M HI(T)
10 0930 H2(7)
11 0940 7 # %+ K2-1000M HI(5)
12 0950 H2(4)
13 1000 = B9+ K2-1000M HI(4)
14 1010 H2(4)
15 1020 o #E § 3+ KI-1000M SF(6)
16 1030 %41 7 <+ K1-1000M SF(6)
17 1040 7+ # %+ C1-1000M SF(T)
18 1050 = B 9+ KI-1000M SF(6)
19 1100 =~ # 9 + Cl-1000M SF(6)
20 1110 7 # %+ K2-1000M SF(6)
21 1120 = B9+ K2-1000M SF(6)
22 1130 70 &4 3 K1-500M HI(5)
23 1135 H2(4)
24 1140 v &9 F K1-500M HICT)
25 1145 H2(7)
26 1150 7 # 3 + K1-500M HI(5)
21 1155 H2(5)
28 1200 = B4+ K1-500M HI(5)
29 1205 H2(4)
30 1210 =B 9 <+ KI-500M HI(5)
31 1215 H2(5)

= ik




P B | B oW/ P Foul g

/25 | 32 1300 # 5 & 4 3 K1-500M SF(6)

(=) | 33 1305 # > & 9 3 KI-500M SF(6)
34 1310 ## 7 3 K1-500M SF(6)
35 1315 @43 K1-500M SF(6)
36 1320 ~B 93 KI-500M SF(6)
37 1330 F 0 & 3+ K1-1000M F(6)
38 1340 # &7 3 C1-1000M F(T)
39 1350 # > &4~ 3 K1-1000M F(6)
40 1400 ## 7 3 K1-1000M F(6)
41 1410 ## 7 3 C1-1000M F(6)
42 1420 2 9+ K1-1000M F(6)
43 1430 293 C1-1000M F(6)
44 1440 (2B 4f &) + =+ KI-1000M F(3+2)
45 1450 # &7 3 K2-1000M F(T)
46 1500 # &7 3 (2-1000M F(3)
AT 1510 7;*—& 7 + K2-1000M F(6)
48 1520 ## 73 (2-1000M F(4)
49 1525 SR 93 K2-1000M F(6)
50 1530 293 C2-1000M F(5)
51 1535 F 5 &4 3 K1-500M F(6)
52 1540 # & 7 3 K1-500M F(6)
53 1545 F &% 3 K1-500M F(5)
54 1550 ## 7 3 K1-500M F(6)
55 1555 243 K1-500M F(6)
56 1600 2B 93 KI-500M F(6)
57 1605 F 5 &4 3 K2-500M F(6)
58 1610 # &+ 3 K2-500M F(2)
59 1615 o B 43 K2-500M F(5)
60 1620 (B35 #E) ~F C2-500M | F(3+2)
61 1630 (> #4+F &) 73 K4-500M | F(1+4)
62 1640 SR 93 K4-500M F(2)
63 1650 (B30 &) ~3 K4-5000 | F(242)




P B | @R w w)/5 P F ul =

7/26 | 64 | 0800 F 5 & %3 SP H1(6)

(p) | 65 | 0805 # 5 &% 3 K1-200M H1(4)
66 | 0810 H2(4)
67 | 0815 # 5 &% 3 QP H2(5)
68 | 0820 # 5 &9 3 K1-200M H1(6)
69 | 0825 H2(5)
70 | 0830 #5 &893 SUP H1(6)
1| 0835 # 5 &9 3 K1-200M H3(5)
2| 0840 ##93 K1-200M H1(6)
73| 0845 #5 &893 SUP H2(6)
4| 0850 ##93 K1-200M H2(5)
75| 0855 2B 73 K1-200M H1(5)
76 | 0900 #5 &9 3 SUP H3(5)
7| 0905 @93 K1-200M H2(5)
8| 0910 H3(5)
79 | 0915 #2793 SUP H1(4)
80 | 0920 > &9 3 Pl H1(6)
81 | 0925 # 5 &% 3 K1-200M SF(6)
82 | 0930 #2793 SUP H2(3)
83 | 0935 # 5 &9 3 K1-200M SF(6)
84 | 0940 SR EN H2(6)
85 | 0945 ~B 93 SUP H1(4)
86 | 0950 ##93 K1-200M SF(6)
87 | 0955 293 K1-200M SF(6)
88 | 1000 b4 3 P H1(5)
89 | 1005 @93 SUP H2(4)
90 | 1010 # 5 &% 3 K1-200M F(6)
91 | 1015 35 &9 3 K1-200M F(6)
92 | 1020 # 5 &% 3 SUP SF(6)
93 | 1025 b3 P H2(4)
94 | 1030 $ 5 &% 3 C1-200M F(3)
95 | 1035 # &4 3 K1-200M F(5)
96 | 1040 # &893 SP SF(6)
97 | 1045 S EN S SF(6)
98 | 1050 #2793 SP SF(6)
99 | 1055 # &9 3 K1-200M F(6)
100 | 1100 &+ 3 C1-200M F(4)

-3-




101 | 1105 F &% 3 P SF(6)
102 | 1110 SR Y3 SUP SF(6)
103 | 1115 o F(T)
104 | 1120 2B 43 K1-200M F(T)
105 | 1125 #5&93 SUP F(6)
106 | 1130 b9 3 Pl F(6)
107 | 1135 2B 73 KI-200M F(6)
108 | 1140 #9793 SUP F(6)
109 | 1145 s F(6)
110 | 1150 2B 43 C1-200M F(4)
111 | 1155 (# #+2 )% SIP F(3+2)
112 | 1200 S ENS F(4)
113 | 1205 SR Y3 SUP F(6)
= ik
114 | 1300 (ABIF 4T 0 &) (6+11+13)
2 3 K1-5000M
115 | 1340 (2Bt 8) (10+1147)
g 3 C1-5000M
116 | 1420 (2@t &) (1+4+8)

-+ <+ K1-5000M




